LN S

R ¢ 1126731
=1l 2 ENEN RPN TREEE R A\ B RPN
TARTEA 2 0 2
EDEGIEN 17 1 18
B i 1 0 :
REELE 0 0 0
RIEEE £ 14 10 24
= 74 2 96
TP TR 21 4 10 14
— BETTEA 0 0 0
TA2EERE | EmER £ 13 0 13
Hil TR A& 65 27 92
BIREaT % 30 0 30
[l P EE 2 R NE I S haE R 135 67 202
GIEEEE T £ S3 3 56
BIRERE [EIREH A 103 52 155
BENEE £ 28 18 46
IRHIEEE T 4 49 19 68
TARTEZ 14 1 15
ENEET R 0 0 0
BN ifz3=c il . ! 0
RENELE % 40 0 40
fibe =L 113 4 117
EEEN 0 0 0
e 4 0 4
— BT TEA 0 0 0
TA2EERE | mER £ 35 0 35
HilTIEA 8 0 8
AR EmRET & 0 1 1
[ P EE 2 B ME S haE R 0 0 0
GREEEEH A 4 0 4
BIRER [BIREHE A 33 7 40
BEETE A 1 0 1
UNJIEE SEEEEN 10 0 10
B 95 8 103
ot Ht |k 6 1 7
HAn(th@E A+ - SIHEERETE) 1 2 3
A 952 253 1205




